RESEARCH ARTICLE



Impact of air pollution on benign paroxysmal positional vertigo incidence: a retrospective study of the citizens of Seoul, South Korea

Seog-Kyun Mun¹ · Seung Ri Oh¹ · Bo Ram Yang² · Seung-Ha Oh³ · Munyoung Chang¹

Received: 22 October 2020 / Accepted: 18 February 2021 / Published online: 27 February 2021 © The Author(s), under exclusive licence to Springer-Verlag GmbH, DE part of Springer Nature 2021

Abstract

Benign paroxysmal positional vertigo (BPPV) is among the most common inner ear diseases. Although BPPV is one of the most common causes of dizziness, its pathogenesis remains unknown. Air pollutants might reach the middle ear through the eustachian tube and be absorbed into the inner ear through the round window membrane, increasing the risk of BPPV. We investigated the relationship between air pollution and BPPV risk. Data were extracted from the Korean Health Insurance Review and Assessment Service database, which contains health claims information of the entire South Korean population. Variables of interest included the number of patients diagnosed with BPPV in Seoul, South Korea, patients' clinical and demographic characteristics, and osteopenia status. Seoul's daily air pollution indicators, including SO₂, CO, O₃, NO₂, PM₁₀, and PM_{2.5}, were obtained from the Korea Environment Corporation website. Overdispersed Poisson regression analysis was performed. In the multivariable analysis, NO₂ air concentration (ppb) was associated with increased incidence of BPPV. In analysis stratified by age, NO₂ air concentration was associated with increased incidence of BPPV in patients with and without osteopenia. Air levels of NO₂ were associated with increased incidence of BPPV in patients with and without osteopenia. Air levels of NO₂ were associated with increased incidence of BPPV in the present study. This finding contributes toward a better understanding of BPPV pathogenesis and improved prevention and management of this condition.

Keywords Benign paroxysmal positional vertigo · Air pollution · Nitrogen dioxide · Inner ear · Seoul · South Korea

Introduction

Benign paroxysmal positional vertigo (BPPV) is among the most common causes of dizziness (Strupp and Brandt 2013). In the USA alone, 1–2.4 million patients present annually at a hospital due to BPPV (Hanley et al. 2001; Katsarkas 1999; Schappert 1992). In addition, the lifetime prevalence of BPPV

Responsible editor: Lotfi Aleya

Munyoung Chang cadu01@cau.ac.kr

- ¹ Department of Otorhinolaryngology-Head and Neck Surgery, Chung-Ang University College of Medicine, 84 Heukseok-ro, Dongjak-gu, Seoul 06974, South Korea
- ² College of Pharmacy, Chungnam National University, 99, Daehak-ro, Yuseong-gu, Daejeon 34134, South Korea
- ³ Department of Otorhinolaryngology-Head and Neck Surgery, Seoul National University College of Medicine, 101, Daehak-ro, Jongno-gu, Seoul 03080, South Korea

has been reported as 2.4% (von Brevern et al. 2007). Although BPPV is not associated with any serious central nervous system disorder (Baloh et al. 1987), the dizziness experienced by patients during the course of the disease can cause emotional distress and quality of life deterioration (Park et al. 2019; Roberts et al. 2009). BPPV increases the risk of falls and causes major inconveniences in everyday life (Lopez-Escamez et al. 2005).

BPPV occurs when the otoconia detach from the otolith organ, which is part of the inner ear (Hoseinabadi et al. 2016; Singh and Apeksha 2016). The detachment of the otoconia may be caused by various inner ear diseases or head trauma. It is commonly reported in women, older adults, and patients with osteopenia (Chan et al. 2017; Mizukoshi et al. 1988). However, in most cases, the cause of otoconia detachment from the otolith organ remains unknown. Understanding the risk factors associated with BPPV might help elucidate the mechanisms of its pathogenesis.

The air that enters the nose passes through the nasopharynx before going down the lower airway. The nasopharynx is

connected to the middle ear through the eustachian tube located behind the nasopharynx; this direct connection means that the inhaled air can affect the middle ear. In fact, several previous studies have revealed an association between air pollution and the risk of otitis media (Bowatte et al. 2018; Girguis et al. 2018; Leach et al. 2020; MacIntyre et al. 2011; Park et al. 2018; Zemek et al. 2010). Going a step further, one notices that the middle ear is connected to the inner ear through a round window membrane, which allows gas exchange to take place between the two structures (Ars 2008). The way the ear is built and thus allows air pollutants to enter the middle and inner ear through the round window membrane and reach the inner ear organs such as the otolith organ, creating a plausible pathway for the development of BPPV.

To the best of our knowledge, no previous studies have examined the association between air pollution and BPPV risk. Elucidating this association might contribute toward the better understanding of BPPV pathogenesis and improved prevention and management of this condition.

Methods

This study was approved by the institutional review board of Chung-Ang University Hospital (1911-019-16290). The written informed consent requirement was waived for this study, as anonymized data were used. All research was performed in accordance with the tenets of the Declaration of Helsinki.

HIRA database

South Korea launched a nationwide health insurance system in 1977 and achieved universal coverage of the entire population in 1989. Nearly all of the data collected by the health system are stored in large centralized databases. The Korean Health Insurance Review and Assessment Service (HIRA) database includes information on diagnoses, prescribed procedures and drugs, and personal data (de-identified beneficiary ID, age, sex, and type of insurance, among others) (Kim et al. 2017). The HIRA uses codes from the Korean Classification of Diseases (KCD), which are based on the tenth edition of the International Classification of Diseases and used in diagnostic practice. The database is comprehensive and does not include duplicates as all South Korean residents receive a unique identification number at birth. For the purpose of this study, we obtained claims data recorded from January 1, 2014, to December 31, 2015, for patients diagnosed with BPPV in Seoul, South Korea.

Study population

Throughout the year 2015, we counted the daily number of patients newly diagnosed with BPPV in Seoul, South Korea.

A positive BPPV diagnosis was defined as follows: a firsttime primary diagnosis under KCD code H811 recorded between January 2015 and December 2015. To control for cases of recurrent BPPV, patients were excluded if they had received a diagnosis of BPPV (KCD code H811) between January 2014 and December 2014. Data on the date of diagnosis and patient characteristics at diagnosis (including age, gender, and osteopenia or osteoporosis status) were extracted from the HIRA. Patients were considered to have osteopenia (including osteoporosis) if they had received a diagnosis corresponding to KCD code M80-82 during 1 year prior to their BPPV diagnosis. Seoul 2015 population data, including information on gender and age distribution, were extracted from the Seoul statistical service available online (https://data.seoul. go.kr/dataService/boardList.do#submenu7).

Air pollution indicators

We extracted Seoul's daily air pollution indicators for the period from January 2015 to December 2015, including levels of sulfur dioxide (SO₂), carbon monoxide (CO), trioxygen (O₃), nitrogen dioxide (NO₂), particulate matter $\leq 10 \ \mu m$ in aerodynamic diameter (PM₁₀), and particulate matter \leq 2.5 μ m in aerodynamic diameter (PM_{2.5}), from the Korea Environment Corporation website (https://www.airkorea.or. kr/web/last amb hour data?pMENU NO=123). These parameters were measured hourly by the National Institute of Environmental Research at 39 monitoring stations across Seoul. The daily average value of each monitoring station represented an arithmetic average of the hourly values. The average daily value for Seoul was calculated by arithmetically averaging daily values obtained from all stations. As the levels of SO₂, CO, O₃, and NO₂ were lower than 1 ppm, a unit of ppb was used to facilitate the determination of the effect of changes in SO₂, CO, O₃, and NO₂ on the number of BPPV patients. These values were used for analysis.

Statistical analysis

Overdispersed Poisson regression analysis was performed. First, univariable analysis was performed to identify air pollution indicators associated (p < 0.05) with the daily number of new BPPV patients. Then, multivariable analysis was performed with factors that were statistically significant in the univariable analysis. This analysis was performed for the entire sample; subsequently, we performed the same type of analysis on data stratified by gender, age, and osteopenia status. The values of Exp (β) means incidence rate ratio (IRR). For example, the IRR value of NO₂ is 1.05. This means that the daily number of new BPPV patients will be 1.05 times greater for each 1 ppb of NO₂. A *p* value < 0.05 was considered indicative of statistical significance. Statistical analyses were performed using the IBM SPSS software version 21.0 (IBM, Armonk, NY, USA).

Results

In 2015, the total population of Seoul was 10,369,067. Of these, 49,770 people (0.480%) developed BPPV; 1-year gender-specific incidence rate for men was 0.288% (n = 14,707), and the corresponding value for women was 0.666% (*n* = 35,063). One-year age-specific incidence rate was the highest among people in their 70s at 1.228% (n = 576,397), followed by that among people in their 80s and 60s (Table 1). The monthly distribution of air pollution indicators and the number of newly diagnosed BPPV patients are presented in Fig. 1. The average monthly number of new BPPV diagnoses was 136.3, while the average NO_2 level was 38.4 ppb (0.0384) ppm). BPPV incidence was the highest in March, which was also the month when NO₂ levels were the highest (Fig. 1).

The univariable analysis of data from the entire sample revealed an association (p < 0.05) between the daily number of new BPPV patients and the levels of CO, O₃, NO₂, and PM₁₀. In the multivariable analysis, CO (p = 0.013; IRR = 0.999; 95%) confidence interval [CI]: 0.999, 1.000), O_3 (p = 0.010; IRR = 0.991; 95% CI: 0.984, 0.998), NO₂ (*p* < 0.001; IRR = 1.013; 95% CI: 1.006, 1.021), and PM_{10} (p = 0.040; IRR = 1.001; 95% CI: 1.000, 1.003) levels remained independently associated with the number of new BPPV patients. Moreover, NO2 and PM10 levels were associated with the increased incidence of BPPV. In contrast, CO and O₃ levels were associated with the reduced incidence of BPPV (Table 2).

In the analysis stratified by gender, NO₂ levels (for men and women, respectively: p = 0.005; IRR = 1.007; 95% CI 1.002, 1.011; *p* < 0.001; IRR = 1.013; 95% CI 1.006, 1.021) were associated with the increased incidence of BPPV among both men and women. Meanwhile, the levels of PM_{10} (p = 0.043; IRR = 1.001; 95% CI: 1.000, 1.003) were associated with the increased incidence of BPPV among women. Finally, the levels of CO (p = 0.027; IRR = 0.999; 95% CI: 0.999, 1.000) and O₃ *p* = 0.005; IRR = 0.990; 95% CI: 0.982, 0.997) were associated with the reduced incidence of BPPV among women (Table 3).

In the analysis stratified by age, the levels of NO₂ were associated with the increased incidence of BPPV among all adults over the age of 19 years (p < 0.05). Concurrently, the levels of PM10 were associated with the increased incidence of BPPV among people in their 50s and 70s (p < 0.05). In contrast, the levels of CO were associated with the reduced incidence of BPPV among people in their 30s, 50s, and 70s (p <0.05). Finally, the levels of O_3 were associated with the reduced incidence of BPPV among children under the age of 10 years and among people in their 30s, 50s, 60s, and 70s (p <0.05, Table 3).

In the analysis stratified by osteopenia status, the levels of NO2 were associated with the increased incidence of BPPV in patients with and without osteopenia (p < 0.001). In contrast, the levels of CO and O₃ were associated with the reduced incidence of BPPV in patients with and without osteopenia (p < 0.05, Table 3).

Discussion

The inner ear is located within the temporal bone and includes a cochlea that processes signals related to sound and semicircular canals and otolith organs that process signals related to balance. While the middle ear is filled with air, the inner ear is filled with fluid including perilymph and endolymph. The

| % CI) |
|------------------|
| 293) |
| 573) |
|)19) |
| 144) |
| 270) |
| 358) |
| 467) |
| 573) |
| 9 95) |
| 256) |
| 038) |
| 408) |
| 484) |
| 1234522044 |

BPPV benign paroxysmal positional vertigo, pts patients, CI confidence interval



Fig. 1 Air pollution indicators and the number of new BPPV patients by month. **a** SO₂. **b** CO. **c** O₃. **d** NO₂. **e** PM₁₀. **f** PM_{2.5}. No, number; BPPV, benign paroxysmal positional vertigo; pts, patients; SO₂, sulfur dioxide;

CO, carbon monoxide; O₃, trioxygen; NO₂, nitrogen dioxide; PM₁₀, particulate matter \leq 10 μm in aerodynamic diameter; PM_{2.5}, particulate matter \leq 2.5 μm in aerodynamic diameter

inner ear is separated from the middle ear by a round window membrane, which permits the exchange of substances between the inner ear and its environment (Goycoolea and Lundman 1997). In otolaryngology, the round window membrane is used as a channel for administering drugs into the inner ear. For example, in cases of sudden sensorial hearing loss, when cochlear function is suddenly reduced, corticosteroids are administered into the middle ear. Subsequently, they are absorbed into the inner ear through the round window membrane and restore cochlear function (Mirian and Ovesen 2020). Given this phenomenon, we suspected that air pollutants reaching the middle ear may be absorbed into the inner ear through the round window membrane and induce inner ear disease such as BPPV, which

Table 2Association between airpollutants and BPPV incidence:overdispersed Poisson regressionanalysis

| | Univariable | e analysis | | Multivariable analysis | | | |
|--|-------------|------------|--------------|------------------------|--------------------------------|--------------|--|
| | p Value | Exp (β) | 95% CI | p Value | $\text{Exp}\left(\beta\right)$ | 95% CI | |
| SO ₂ (ppb) | 0.053 | 1.038 | 1.000, 1.078 | | | | |
| CO (ppb) | 0.009 | 1.000 | 1.000, 1.001 | 0.013 | 0.999 | 0.999, 1.000 | |
| O ₃ (ppb) | 0.004 | 0.992 | 0.987, 0.997 | 0.010 | 0.991 | 0.984, 0.998 | |
| NO ₂ (ppb) | < 0.001 | 1.009 | 1.004, 1.013 | < 0.001 | 1.013 | 1.006, 1.021 | |
| $PM_{10} (\mu g/m^3)$ | 0.018 | 1.001 | 1.000, 1.002 | 0.040 | 1.001 | 1.000, 1.003 | |
| PM _{2.5} (µg/m ³) | 0.071 | 1.004 | 1.000, 1.008 | | | | |
| | | | | | | | |

BPPV benign paroxysmal positional vertigo, *CI* confidence interval *SO*₂ sulfur dioxide, *CO* carbon monoxide, *O*₃ trioxygen, *NO*₂ nitrogen dioxide, *PM*₁₀ particulate matter \leq 10 µm in aerodynamic diameter, *PM*_{2.5} particulate matter \leq 2.5 µm in aerodynamic diameter

 Table 3
 Association between air pollutants and BPPV incidence, stratified by gender, age, and osteopenia status: overdispersed Poisson regression analysis

| $ \begin{array}{ c c c c c c c c c c c c c c c c c c c$ | | | Univariable analysis | | | Multivariable analysis | | |
|---|-----------------------------------|--|----------------------|---------|--------------|------------------------|---------|--------------|
| Gender SO2 (ppb) 0.224 1.025 0.985, 1.066 Men ($r = 14,707, 29.5\%$) SO2 (ppb) 0.100 1.000 1.000 1.001 O ₂ (ppb) 0.136 0.996 0.991, 1.001 1.002, 1.017 1.002, 1.011 PM ₄₄ (ugrm ²) 0.034 1.001 1.000, 1.002 0.243 1.001 0.999, 1.002 Women ($n = 35,063, 70.5\%$) SO ₂ (ppb) 0.032 1.043 1.005, 1.084 0.936 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.999 0.992 0.999 0.999 0.992 0.999 0.999 0.992 0.999 0.993 1.000 1.000 1.001 </th <th></th> <th></th> <th>p Value</th> <th>Exp (β)</th> <th>95% CI</th> <th>p Value</th> <th>Exp (β)</th> <th>95% CI</th> | | | p Value | Exp (β) | 95% CI | p Value | Exp (β) | 95% CI |
| Men (n = 14,707, 29.5%) SO ₂ (pph) 0.224 1.025 0.085, 1.066 CO (ppb) 0.100 1.000 1.000, 1.001 O ₁ (ppb) 0.010 1.007 1.003, 1.012 0.005 1.007 1.002, 1.011 NO ₂ (ppb) 0.034 1.001 1.000, 1.002 0.243 1.001 0.999, 1.002 PM _{2.5} (ug/m ²) 0.142 1.003 0.999, 1.008 0.999, 1.002 0.999, 1.002 Versen (n = 35,063, 70.5%) SO ₂ (pph) 0.028 1.043 1.005, 1.044 0.936 0.996 0.999, 1.002 Versen (n = 35,063, 70.5%) SO ₂ (pph) 0.030 1.000 1.000, 1.002 0.999 0.999, 1.001 Versen (n = 35,063, 70.5%) SO ₂ (pph) 0.035 1.000 1.000, 1.002 0.999 0.999, 1.001 Versen (n = 1418, 2.8%) SO ₂ (pph) 0.334 1.065 0.937, 1.211 0.997 0.958, 0.955 0.014 0.977 0.958, 0.955 0.014 0.977 0.958, 0.955 0.014 0.977 0.958, 0.955 0.014 0.977 | Gender | | | | | | | |
| C0 (ppb) 0.100 1.000 1.000 1.001 O ₃ (ppb) 0.036 0.996 0.991, 1.001 1.002 1.007 1.002, 1.011 PM ₀ (ugm ^h) 0.034 1.001 1.000, 1.002 0.243 1.001 0.999, 1.002 Women (n = 35,063, 70.5%) S05 (ppb) 0.028 1.003 1.000, 1.001 0.27 0.999 0.999, 1.002 V(ppb) 0.010 1.003 1.000, 1.001 0.027 0.999 0.999, 1.900 O ₁ (ppb) 0.011 1.009 1.005, 1.014 <0.001 | Men (<i>n</i> = 14,707, 29.5%) | SO ₂ (ppb) | 0.224 | 1.025 | 0.985, 1.066 | | | |
| $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | | CO (ppb) | 0.100 | 1.000 | 1.000, 1.001 | | | |
| N02 (ppb) 0.001 1.007 1.003, 1.012 0.005 1.007 1.002, 1.011 PM10 (ug/m ¹) 0.034 1.001 1.000 0.024 1.001 0.099, 1.002 Womem (n = 35,063, 70.5%) SO2 (ppb) 0.028 1.043 1.005, 1.044 0.035 0.998 0.999, 1.000 O(ppb) 0.001 1.000 1.005, 1.014 <0.005 | | O ₃ (ppb) | 0.136 | 0.996 | 0.991, 1.001 | | | |
| PM ₁₀ (µg/m ²) 0.034 1.001 1.002, 1.022, 0.243 1.001 0.999, 1.002 Women (n = 35,063, 70.5%) SQ, (ppb) 0.028 1.043 1.005, 1.048 0.936 0.998 0.942, 1.056 CO (ppb) 0.001 0.991 0.985, 0.996 0.001 0.991 0.985, 0.996 0.999 0.998, 0.992, 0.997 NO ₅ (ppb) <0.001 | | NO ₂ (ppb) | 0.001 | 1.007 | 1.003, 1.012 | 0.005 | 1.007 | 1.002, 1.011 |
| $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{10} (\mu g/m^3)$ | 0.034 | 1.001 | 1.000, 1.002 | 0.243 | 1.001 | 0.999, 1.002 |
| $ \begin{array}{llllllllllllllllllllllllllllllllllll$ | | PM _{2.5} (µg/m ³) | 0.142 | 1.003 | 0.999, 1.008 | | | |
| CO (ppb) 0.003 1.000 1.000, 1.001 0.027 0.999 0.999, 1.000 O ₃ (ppb) 0.001 0.991 0.885, 0.996 0.005 0.990 0.982, 0.997 NO ₂ (ppb) 0.016 1.001 1.000, 1.002 0.433 1.001 1.000, 1.003 PM ₁₀ (µgm ²) 0.016 1.001 1.000, 1.002 0.433 1.001 1.000, 1.003 PM ₁₀ (µgm ²) 0.016 1.001 1.000, 1.002 0.443 1.001 0.003 Op (n = 129, 0.3%) SO ₂ (ppb) 0.142 1.001 1.000, 1.002 0.943 0.977 0.958, 0.995 O ₁ (ppb) 0.012 1.014 0.999 0.933, 1.004 0.977 0.958, 0.995 NO ₂ (ppb) 0.675 0.999 0.993, 1.004 0.977 0.958, 0.995 10-19 (n = 1418, 2.8%) SO ₂ (ppb) 0.635 1.014 0.982, 1.013 0.995 0.991, 0.016 0.991 0.991, 1.001 0.014 0.977 0.958, 0.995 0.014 0.977 0.958, 0.991 0.991, 0.01 | Women (<i>n</i> = 35,063, 70.5%) | SO ₂ (ppb) | 0.028 | 1.043 | 1.005, 1.084 | 0.936 | 0.998 | 0.942, 1.056 |
| O3 (ppb) 0.001 0.991 0.985, 0.996 0.005 0.990 0.982, 0.997 N0_2 (ppb) <0.001 | | CO (ppb) | 0.003 | 1.000 | 1.000, 1.001 | 0.027 | 0.999 | 0.999, 1.000 |
| NO2 (ppb) < 0.001 1.009 1.005, 1.014 < 0.001 1.003, 1.021 PM ₁₀ (µg/m ³) 0.016 1.001 1.000, 1.002 0.043 1.001 1.000, 1.002 Age | | O ₃ (ppb) | 0.001 | 0.991 | 0.985, 0.996 | 0.005 | 0.990 | 0.982, 0.997 |
| $\begin{array}{l l l l l l l l l l l l l l l l l l l $ | | NO ₂ (ppb) | < 0.001 | 1.009 | 1.005, 1.014 | < 0.001 | 1.013 | 1.006, 1.021 |
| PM2 5 (µg/m²) 0.056 1.004 1.000, 1.009 Age | | $PM_{10} (\mu g/m^3)$ | 0.016 | 1.001 | 1.000, 1.002 | 0.043 | 1.001 | 1.000, 1.003 |
| Age | | PM _{2.5} (µg/m ³) | 0.056 | 1.004 | 1.000, 1.009 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | Age | | | | | | | |
| $ \begin{array}{cccc} CO (ppb) & 0.142 & 1.001 & 1.000, 1.002 \\ O_{1} (ppb) & 0.014 & 0.977 & 0.958, 0.995 & 0.014 & 0.977 & 0.958, 0.995 \\ NO_{2} (ppb) & 0.072 & 1.014 & 0.999, 1.029 \\ PM_{10} (µg/m^3) & 0.675 & 0.999 & 0.993, 1.004 \\ PM_{25} (µg/m^3) & 0.717 & 0.997 & 0.982, 1.013 \\ CO (ppb) & 0.326 & 1.000 & 1.000, 1.003 \\ O_{3} (ppb) & 0.396 & 1.000 & 1.000, 1.013 \\ NO_{2} (ppb) & 0.699 & 1.006 & 1.000, 1.013 \\ PM_{10} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{25} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{25} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{25} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{25} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{25} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{25} (µg/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ O_{3} (ppb) & 0.802 & 1.006 & 1.000, 1.003 \\ O_{3} (ppb) & 0.802 & 1.006 & 1.000, 1.000 \\ O_{3} (ppb) & 0.802 & 1.006 & 1.000, 1.000 \\ O_{3} (ppb) & 0.803 & 1.008 & 1.003, 1.013 & 0.003 & 1.008 & 1.003, 1.013 \\ PM_{10} (µg/m^3) & 0.169 & 1.001 & 1.000, 1.002 \\ PM_{25} (µg/m^3) & 0.521 & 1.002 & 0.997, 1.007 \\ 30-39 (n = 6140, 12.3\%) & SO_{2} (ppb) & 0.003 & 0.991 & 0.985, 0.997 & 0.23 & 0.991 & 0.984, 0.999 \\ NO_{2} (ppb) & 0.003 & 0.991 & 0.985, 0.97 & 0.023 & 0.991 & 0.984, 0.999 \\ NO_{2} (ppb) & 0.001 & 1.001 & 1.000, 1.002 \\ PM_{25} (µg/m^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{25} (µg/m^3) & 0.061 & 1.001 & 1.006, 1.015 & 0.001 & 1.015 & 1.007, 1.024 \\ PM_{10} (µg/m^3) & 0.061 & 1.001 & 1.006, 1.015 & 0.001 & 1.015 & 1.007, 1.024 \\ PM_{2} (µg/m^3) & 0.095 & 1.004 & 0.999, 1.009 \\ Q_{1} (ppb) & 0.002 & 0.001 & 1.010 & 1.006, 1.015 & 0.001 & 1.013 & 1.005, 1.021 \\ PM_{25} (µg/m^3) & 0.010 & 1.054 & 1.013, 1.096 & 0.945 & 1.002 & 0.9943, 1.004 \\ O_{1} (ppb) & 0.004 & 0.992 & 0.986, 0.997 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_{2} (ppb) & 0.004 & 0.992 & 0.986, 0.997 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_{2} (ppb) & 0.014 & 1.001 & 1.000, 1.003 & 0.81 & 1.002 & 1.000, 1.003 \\ NO_{2} (ppb) & 0.014 & 1.001 & 1.000, 1.003 & 0.81 & 1.002 & 1.000, 1.003 \\ NO_{2} (ppb) & 0.014 $ | 0-9 (n = 129, 0.3%) | SO ₂ (ppb) | 0.334 | 1.065 | 0.937, 1.211 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | CO (ppb) | 0.142 | 1.001 | 1.000, 1.002 | | | |
| $ \begin{array}{cccc} NO_2 \ (ppb) & 0.072 & 1.014 & 0.999, 1.029 \\ PM_{10} \ (\mugm^3) & 0.675 & 0.999 & 0.993, 1.004 \\ PM_{2.5} \ (\mugm^3) & 0.717 & 0.997 & 0.982, 1.013 \\ OB_{2.5} \ (\mugm^3) & 0.717 & 0.997 & 0.982, 1.013 \\ OC \ (ppb) & 0.35 & 1.014 & 0.958, 1.073 \\ OC \ (ppb) & 0.396 & 1.000 & 1.000, 1.000 \\ O_3 \ (ppb) & 0.391 & 1.003 & 0.996, 1.011 \\ NO_2 \ (ppb) & 0.059 & 1.006 & 1.000, 1.013 \\ PM_{10} \ (\mugm^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{2.5} \ (\mugm^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{2.5} \ (\mugm^3) & 0.964 & 1.000 & 0.993, 1.006 \\ O_3 \ (ppb) & 0.802 & 1.006 & 0.960, 1.054 \\ CO \ (ppb) & 0.277 & 1.000 & 1.000, 1.002 \\ NO_2 \ (ppb) & 0.189 & 0.996 & 0.990, 1.002 \\ NO_2 \ (ppb) & 0.033 & 1.008 & 1.003, 1.013 \\ PM_{10} \ (\mugm^3) & 0.169 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.169 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.521 & 1.002 & 0.997, 1.007 \\ 30-39 \ (n = 6140, 12.3\%) & SO_2 \ (ppb) & 0.003 & 1.038 & 0.995, 1.083 \\ CO \ (ppb) & 0.004 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ O_3 \ (ppb) & 0.004 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ O_3 \ (ppb) & 0.001 & 1.010 & 1.006, 1.015 & <0.001 & 1.015 & 1.007, 1.024 \\ PM_{10} \ (\mugm^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{2.5} \ (\mugm^3) & 0.061 & 1.001 & 1.000, 1.001 & 0.362 & 1.002 & 0.943, 1.064 \\ CO \ (ppb) & 0.004 & 0.992 & 0.986, 0.997 & 0.183 & 0.994 & 0.985, 1.002 \\ NO_2 \ (ppb) & 0.004 & 0.992 & 0.986, 0.977 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2 \ (ppb) & 0.004 & 0.992 & 0.986, 0.977 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2 \ (ppb) & 0.004 & 0.992 & 0.986, 0.977 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2 \ (ppb) & 0.004 & 0.992 & 0.986, 0.977 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2 \ (ppb) & 0.004 & 0.992 & 0.986, 0.977 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2 \ (ppb) & 0.004 & 0.992 & 0.986, 0.977 & 0.183 & 0.994 &$ | | O_3 (ppb) | 0.014 | 0.977 | 0.958, 0.995 | 0.014 | 0.977 | 0.958, 0.995 |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | NO ₂ (ppb) | 0.072 | 1.014 | 0.999, 1.029 | | | |
| $ \begin{array}{llllllllllllllllllllllllllllllllllll$ | | $PM_{10} (\mu g/m^3)$ | 0.675 | 0.999 | 0.993, 1.004 | | | |
| $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{2.5} (\mu g/m^3)$ | 0.717 | 0.997 | 0.982, 1.013 | | | |
| $\begin{array}{cccc} Co(ppb) & 0.936 & 1.000 & 1.000, 1.000 \\ O_3(ppb) & 0.391 & 1.003 & 0.996, 1.011 \\ NO_2(ppb) & 0.059 & 1.006 & 1.000, 1.013 \\ PM_{10}(\mu g/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{2.5}(\mu g/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ PM_{2.5}(\mu g/m^3) & 0.510 & 0.999 & 0.997, 1.001 \\ CO(ppb) & 0.802 & 1.006 & 0.960, 1.054 \\ CO(ppb) & 0.277 & 1.000 & 1.000, 1.000 \\ O_3(ppb) & 0.189 & 0.996 & 0.990, 1.002 \\ NO_2(ppb) & 0.003 & 1.008 & 1.003, 1.013 & 0.003 & 1.008 & 1.003, 1.013 \\ PM_{10}(\mu g/m^3) & 0.169 & 1.001 & 1.000, 1.002 \\ PM_{2.5}(\mu g/m^3) & 0.521 & 1.002 & 0.997, 1.003 \\ O_3(ppb) & 0.030 & 1.008 & 1.038 & 0.995, 1.083 \\ CO(ppb) & 0.004 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ O_3(ppb) & 0.003 & 0.991 & 0.985, 0.997 & 0.023 & 0.991 & 0.984, 0.999 \\ NO_2(ppb) & 0.001 & 1.010 & 1.006, 1.015 & <0.001 & 1.015 & 1.007, 1.024 \\ PM_{10}(\mu g/m^3) & 0.061 & 1.001 & 1.000, 1.002 \\ PM_{2.5}(\mu g/m^3) & 0.095 & 1.004 & 0.999, 1.009 \\ 40-49(n = 8130, 16.3\%) & SO_2(ppb) & 0.002 & 1.000 & 1.001, 1.013 & 0.032 & 0.991 \\ 40-49(n = 8130, 16.3\%) & SO_2(ppb) & 0.010 & 1.015 & 1.001 & 1.005, 1.015 \\ CO(ppb) & 0.004 & 0.992 & 0.986, 0.997 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2(ppb) & <0.001 & 1.010 & 1.006, 1.015 & 0.001 & 1.013 & 1.005, 1.021 \\ PM_{10}(\mu g/m^3) & 0.014 & 1.001 & 1.000, 1.003 & 0.081 & 1.002 & 1.000, 1.001 \\ O_3(ppb) & <0.001 & 1.010 & 1.006, 1.015 & 0.001 & 1.013 & 1.005, 1.021 \\ PM_{10}(\mu g/m^3) & 0.014 & 1.001 & 1.000, 1.003 & 0.081 & 1.002 & 1.000, 1.003 \\ NO_2(ppb) & <0.001 & 1.010 & 1.000, 1.003 & 0.081 & 1.002 & 1.000, 1.003 \\ NO_2(ppb) & <0.013 & 1.005 & 1.000, 1.001 & 0.531 & 0.997 & 0.986, 1.007 \\ S0-59(n = 10.976, 22.1\%) & SO_2(ppb) & 0.0155 & 1.039 & 0.999, 1.080 \\ CO(ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ CO(ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ CO(ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ CO(ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ CO(ppb) & 0.017 & 1.000 & 1.000, 1.0$ | 10–19 (<i>n</i> = 1418, 2.8%) | SO_2 (ppb) | 0.635 | 1.014 | 0.958, 1.073 | | | |
| $\begin{array}{ccccc} & & & & & & & & & & & & & & & & &$ | | CO (ppb) | 0.936 | 1.000 | 1.000, 1.000 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | O_3 (ppb) | 0.391 | 1.003 | 0.996, 1.011 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | NO_2 (ppb) | 0.059 | 1.006 | 1.000, 1.013 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{10} (\mu g/m^3)$ | 0.510 | 0.999 | 0.997, 1.001 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{2.5} (\mu g/m^3)$ | 0.964 | 1.000 | 0.993, 1.006 | | | |
| $ \begin{array}{ccccc} CO (pb) & 0.277 & 1.000 & 1.000, 1.000 \\ O_3 (ppb) & 0.189 & 0.996 & 0.990, 1.002 \\ NO_2 (ppb) & 0.003 & 1.008 & 1.003, 1.013 & 0.003 & 1.008 & 1.003, 1.013 \\ PM_{10} (\mug/m^3) & 0.169 & 1.001 & 1.000, 1.002 \\ PM_{2.5} (\mug/m^3) & 0.521 & 1.002 & 0.997, 1.007 \\ 30-39 (n = 6140, 12.3\%) & SO_2 (ppb) & 0.080 & 1.038 & 0.995, 1.083 \\ CO (ppb) & 0.004 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ O_3 (ppb) & 0.003 & 0.991 & 0.985, 0.997 & 0.023 & 0.991 & 0.984, 0.999 \\ NO_2 (ppb) & < 0.001 & 1.010 & 1.006, 1.015 & < 0.001 & 1.015 & 1.007, 1.024 \\ PM_{10} (\mug/m^3) & 0.061 & 1.001 & 1.000, 1.000 \\ PM_{2.5} (\mug/m^3) & 0.095 & 1.004 & 0.999, 1.009 \\ 40-49 (n = 8130, 16.3\%) & SO_2 (ppb) & 0.010 & 1.054 & 1.013, 1.096 & 0.945 & 1.002 & 0.943, 1.064 \\ CO (ppb) & 0.002 & 1.000 & 1.000, 1.001 & 0.362 & 1.000 & 0.999, 1.000 \\ O_3 (ppb) & 0.004 & 0.992 & 0.986, 0.997 & 0.183 & 0.994 & 0.985, 1.003 \\ NO_2 (ppb) & < 0.001 & 1.010 & 1.006, 1.015 & 0.001 & 1.013 & 1.005, 1.021 \\ PM_{10} (\mug/m^3) & 0.014 & 1.001 & 1.000, 1.003 & 0.081 & 1.002 & 1.000, 1.003 \\ PM_{2.5} (\mug/m^3) & 0.031 & 1.005 & 1.000, 1.010 & 0.531 & 0.997 & 0.986, 1.007 \\ 50-59 (n = 10.976, 22.1\%) & SO_2 (ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ CO (ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \\ \end{array}$ | 20–29 (<i>n</i> = 3978, 8.0%) | SO_2 (ppb) | 0.802 | 1.006 | 0.960, 1.054 | | | |
| | | CO (ppb) | 0.277 | 1.000 | 1.000, 1.000 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | O_3 (ppb) | 0.189 | 0.996 | 0.990, 1.002 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | NO_2 (ppb) | 0.003 | 1.008 | 1.003, 1.013 | 0.003 | 1.008 | 1.003, 1.013 |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{10} (\mu g/m^3)$ | 0.169 | 1.001 | 1.000, 1.002 | | | |
| $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{2.5} (\mu g/m^3)$ | 0.521 | 1.002 | 0.997, 1.007 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | 30–39 (<i>n</i> = 6140, 12.3%) | SO_2 (ppb) | 0.080 | 1.038 | 0.995, 1.083 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | CO (ppb) | 0.004 | 1.000 | 1.000, 1.001 | 0.037 | 0.999 | 0.999, 1.000 |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | O_3 (ppb) | 0.003 | 0.991 | 0.985, 0.997 | 0.023 | 0.991 | 0.984, 0.999 |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | NO_2 (ppb) | < 0.001 | 1.010 | 1.006, 1.015 | < 0.001 | 1.015 | 1.007, 1.024 |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{10} (\mu g/m^3)$ | 0.061 | 1.001 | 1.000, 1.002 | | | |
| $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | | $PM_{2.5} (\mu g/m^3)$ | 0.095 | 1.004 | 0.999, 1.009 | | | |
| $\begin{array}{cccccccccccccccccccccccccccccccccccc$ | 40–49 (<i>n</i> = 8130, 16.3%) | SO_2 (ppb) | 0.010 | 1.054 | 1.013, 1.096 | 0.945 | 1.002 | 0.943, 1.064 |
| $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | · · · | CO (ppb) | 0.002 | 1.000 | 1.000, 1.001 | 0.362 | 1.000 | 0.999, 1.000 |
| $NO_{2} (ppb) < 0.001 1.010 1.006, 1.015 0.001 1.013 1.005, 1.021 PM_{10} (\mu g/m^{3}) 0.014 1.001 1.000, 1.003 0.081 1.002 1.000, 1.003 PM_{2.5} (\mu g/m^{3}) 0.031 1.005 1.000, 1.010 0.531 0.997 0.986, 1.007 50-59 (n = 10,976, 22.1%) SO_{2} (ppb) 0.055 1.039 0.999, 1.080 CO (ppb) 0.017 1.000 1.000, 1.001 0.037 0.999 0.999, 1.000$ | | O_3 (ppb) | 0.004 | 0.992 | 0.986, 0.997 | 0.183 | 0.994 | 0.985, 1.003 |
| $\begin{array}{ccccccc} & PM_{10} \ (\mu g/m^3) & 0.014 & 1.001 & 1.000, 1.003 & 0.081 & 1.002 & 1.000, 1.003 \\ PM_{2.5} \ (\mu g/m^3) & 0.031 & 1.005 & 1.000, 1.010 & 0.531 & 0.997 & 0.986, 1.007 \\ 50-59 \ (n=10,976, 22.1\%) & SO_2 \ (ppb) & 0.055 & 1.039 & 0.999, 1.080 \\ CO \ (ppb) & 0.017 & 1.000 & 1.000, 1.001 & 0.037 & 0.999 & 0.999, 1.000 \end{array}$ | | NO_2 (ppb) | < 0.001 | 1.010 | 1.006, 1.015 | 0.001 | 1.013 | 1.005, 1.021 |
| $PM_{2.5} (\mu g/m^3) = 0.031 = 1.005 = 1.000, 1.010 = 0.531 = 0.997 = 0.986, 1.007$ 50-59 (n = 10,976, 22.1%) $SO_2 (ppb) = 0.055 = 1.039 = 0.999, 1.080$ CO (ppb) = 0.017 = 1.000 = 1.000, 1.001 = 0.037 = 0.999 = 0.999, 1.000 | | $PM_{10} (\mu g/m^3)$ | 0.014 | 1.001 | 1.000, 1.003 | 0.081 | 1.002 | 1.000, 1.003 |
| $50-59 (n = 10,976, 22.1\%) \qquad SO_2 (ppb) \qquad 0.055 \qquad 1.039 \qquad 0.999, 1.080 \\ CO (ppb) \qquad 0.017 \qquad 1.000 \qquad 1.000, 1.001 \qquad 0.037 \qquad 0.999 \qquad 0.999, 1.000 \\ \end{array}$ | | $PM_{2.5} (\mu g/m^3)$ | 0.031 | 1.005 | 1.000, 1.010 | 0.531 | 0.997 | 0.986, 1.007 |
| CO (ppb) 0.017 1.000 1.000, 1.001 0.037 0.999 0.999, 1.000 | 50-59 (n = 10,976, 22.1%) | SO_2 (ppb) | 0.055 | 1.039 | 0.999, 1.080 | | | |
| | | CO (ppb) | 0.017 | 1.000 | 1.000, 1.001 | 0.037 | 0.999 | 0.999, 1.000 |

Table 3 (continued)

| | | Univariable analysis | | | Multivariable analysis | | |
|-----------------------------------|--|----------------------|---------|--------------|------------------------|---------|--------------|
| | | p Value | Exp (β) | 95% CI | p Value | Exp (β) | 95% CI |
| | O ₃ (ppb) | 0.002 | 0.992 | 0.986, 0.997 | 0.005 | 0.990 | 0.983, 0.997 |
| | NO ₂ (ppb) | 0.002 | 1.007 | 1.003, 1.012 | 0.008 | 1.010 | 1.003, 1.018 |
| | $PM_{10} (\mu g/m^3)$ | 0.015 | 1.001 | 1.000, 1.003 | 0.024 | 1.001 | 1.000, 1.003 |
| | PM _{2.5} (µg/m ³) | 0.106 | 1.004 | 0.999,1.008 | | | |
| $60-69 \ (n = 9958, 20.0\%)$ | SO ₂ (ppb) | 0.032 | 1.045 | 1.004, 1.087 | 0.824 | 1.007 | 0.948, 1.069 |
| | CO (ppb) | 0.007 | 1.000 | 1.000, 1.001 | 0.151 | 0.999 | 0.999, 1.000 |
| | O ₃ (ppb) | 0.002 | 0.991 | 0.986, 0.997 | 0.027 | 0.990 | 0.981, 0.999 |
| | NO ₂ (ppb) | 0.001 | 1.008 | 1.003, 1.013 | 0.010 | 1.010 | 1.002, 1.018 |
| | $PM_{10} (\mu g/m^3)$ | 0.008 | 1.002 | 1.000, 1.003 | 0.113 | 1.001 | 1.000, 1.003 |
| | PM _{2.5} (µg/m ³) | 0.042 | 1.005 | 1.000, 1.009 | 0.955 | 1.000 | 0.990, 1.011 |
| 70–79 (<i>n</i> = 7078, 14.2%) | SO ₂ (ppb) | 0.131 | 1.033 | 0.990, 1.077 | | | |
| | CO (ppb) | 0.032 | 1.000 | 1.000, 1.001 | 0.009 | 0.999 | 0.999, 1.000 |
| | O ₃ (ppb) | 0.009 | 0.992 | 0.986, 0.998 | 0.010 | 0.990 | 0.982, 0.998 |
| | NO ₂ (ppb) | < 0.001 | 1.008 | 1.004, 1.013 | 0.001 | 1.014 | 1.006, 1.022 |
| | $PM_{10} (\mu g/m^3)$ | 0.018 | 1.001 | 1.000, 1.003 | 0.023 | 1.002 | 1.000, 1.003 |
| | $PM_{2.5} (\mu g/m^3)$ | 0.073 | 1.004 | 1.000, 1.009 | | | |
| 80–89 (<i>n</i> = 1819, 3.7%) | SO ₂ (ppb) | 0.419 | 1.022 | 0.970, 1.076 | | | |
| | CO (ppb) | 0.080 | 1.000 | 1.000, 1.001 | | | |
| | O ₃ (ppb) | 0.071 | 0.993 | 0.986, 1.001 | | | |
| | NO ₂ (ppb) | < 0.001 | 1.012 | 1.007, 1.018 | < 0.001 | 1.012 | 1.007, 1.018 |
| | $PM_{10} (\mu g/m^3)$ | 0.306 | 1.001 | 0.999, 1.002 | | | |
| | $PM_{2.5} (\mu g/m^3)$ | 0.453 | 1.002 | 0.996, 1.008 | | | |
| \geq 90 (<i>n</i> = 117, 0.2%) | SO ₂ (ppb) | 0.199 | 1.092 | 0.955, 1.248 | | | |
| | CO (ppb) | 0.373 | 1.000 | 0.999, 1.001 | | | |
| | O ₃ (ppb) | 0.636 | 1.005 | 0.985, 1.025 | | | |
| | NO ₂ (ppb) | 0.026 | 1.018 | 1.002, 1.034 | 0.208 | 1.013 | 0.993, 1.033 |
| | $PM_{10} (\mu g/m^3)$ | 0.051 | 1.003 | 1.000, 1.006 | | | |
| | $PM_{2.5} (\mu g/m^3)$ | 0.044 | 1.015 | 1.000, 1.030 | 0.435 | 1.008 | 0.988, 1.028 |
| Osteopenia | | | | | | | |
| Yes $(n = 6223, 12.5\%)$ | SO ₂ (ppb) | 0.058 | 1.041 | 0.999, 1.085 | | | |
| | CO (ppb) | 0.017 | 1.000 | 1.000, 1.001 | 0.012 | 0.999 | 0.998, 1.000 |
| | O_3 (ppb) | 0.002 | 0.991 | 0.985, 0.997 | 0.004 | 0.987 | 0.977, 0.996 |
| | NO_2 (ppb) | < 0.001 | 1.009 | 1.004, 1.014 | < 0.001 | 1.015 | 1.007, 1.023 |
| | $PM_{10} (\mu g/m^3)$ | 0.006 | 1.002 | 1.000, 1.003 | 0.133 | 1.001 | 1.000, 1.003 |
| | $PM_{25} (\mu g/m^3)$ | 0.039 | 1.005 | 1.000, 1.010 | 0.569 | 1.003 | 0.992, 1.014 |
| No (<i>n</i> = 43,547, 87.5%) | SO_2 (ppb) | 0.056 | 1.037 | 0.999, 1.077 | | | |
| | CO (ppb) | 0.009 | 1.000 | 1.000, 1.001 | 0.018 | 0.999 | 0.999, 1.000 |
| | O_3 (ppb) | 0.005 | 0.992 | 0.987, 0.998 | 0.014 | 0.991 | 0.984, 0.998 |
| | NO_2 (ppb) | < 0.001 | 1.009 | 1.004, 1.013 | < 0.001 | 1.013 | 1.006, 1.020 |
| | $PM_{10} (\mu g/m^3)$ | 0.024 | 1.001 | 1.000, 1.002 | 0.056 | 1.001 | 1.000, 1.002 |
| | $PM_{25} (\mu g/m^3)$ | 0.083 | 1.004 | 1.000, 1.008 | | | , - |

BPPV benign paroxysmal positional vertigo, *CI* confidence interval, SO_2 sulfur dioxide, *CO* carbon monoxide, O_3 trioxygen, NO_2 nitrogen dioxide, PM_{10} particulate matter $\leq 10 \ \mu$ m in aerodynamic diameter, $PM_{2.5}$ particulate matter $\leq 2.5 \ \mu$ m in aerodynamic diameter

might be associated with air pollution. BPPV is among the most common inner ear diseases; it presents with specific symptoms and follows clear diagnostic criteria, making it

relatively easy to identify and study. Consequently, these observations and considerations resulted in a hypothesis that air pollution might affect BPPV incidence. For the consistency of the analysis of air pollution indicators, we restricted out study to one city, Seoul, which is the capital of South Korea with an area of 605.2 km² and a population of 10,369,067 people. We extracted daily BPPV incidence data from the HIRA database, which stores information on health insurance claims for the entire South Korean population, covered by universal health insurance. Based on this database, we were able to obtain correct BPPV incidence. Given the small number of countries worldwide with national insurance systems, this type of study is rare and only possible in select countries, making the present findings particularly valuable.

In the present study, the overall 1-year incidence of BPPV was 0.48%, which was comparable to that reported in a previous study, estimated at 0.6% (von Brevern et al. 2007). In addition, consistent with previous studies, in the present study, the incidence of BPPV was higher among women than among men and among older adults than among younger adults (Mizukoshi et al. 1988).

Among air pollutants, NO2 was most strongly associated with the increased incidence of BPPV in the overall sample as well as in the analysis stratified by gender, age, and osteopenia status. When the entire sample was analyzed, the IRR of NO₂ was 1.013. This means that with an increase of 1 ppb (0.001 ppm) of NO₂, the daily number of new BPPV patients increases by 1.3%. The association between NO₂ and otitis media has been reported in several previous studies (Aguilera et al. 2013; Brauer et al. 2006; MacIntyre et al. 2014; Zemek et al. 2010), suggesting that air-borne NO₂ can reach the middle ear. Sasa et al. measured the perilymphatic oxygen tension after insufflation of oxygen to the round window membrane. They reported the increase of the oxygen tension in the inner ear, suggesting that gas in the middle ear can penetrate into the inner ear through the round window (Sasa et al. 1989). Given that gas exchange between the middle and inner ear occurs through the round window membrane that is easily permeable to molecules smaller than 45 Da (Ars 2008), which is approximately the molecular weight of hydrophilic NO2 (46 Da), it is plausible that NO₂ permeates into the inner ear and dissolves in its fluid such as perilymph and endolymph. In the process, NO₂ becomes acidic, likely increasing perilymph and endolymph acidity. A previous study has shown that the degeneration of the otoconia is more likely to occur when the surrounding environment becomes acidic (Walther et al. 2014). The degeneration of the otoconia may weaken its attachment to the otolith organs, resulting in its detachment. Consequently, the elevated levels of NO₂ may facilitate otoconia detachment, triggering BPPV. Further research should test this hypothesis.

In the overall sample analysis, the levels of PM_{10} were associated with increased BPPV incidence. Sub-group analysis revealed that this association was present among women rather than men and among people in their 50s and 70s rather than among other age groups. It was associated in women and older adults who are at an increased risk of BPPV. However, since

the IRR of PM_{10} was low as 1.001 or 1.002, it is not thought to have a significant impact on the incidence of BPPV.

For all BPPV patients, CO and O_3 were associated with the reduced incidence of BPPV. Moreover, the levels of CO and O_3 were associated with the lower incidence of BPPV in women and some age groups. It is difficult to determine the exact mechanism by which CO and O_3 levels may reduce BPPV incidence. However, it is plausible that this association is indirect and mediated by the population's reduced activity when air pollution is particularly high.

This study has some limitations. First, there might be a discrepancy between BPPV diagnosis and occurrence date. However, the onset of BPPV is associated with symptoms so severe that patients tend to visit a hospital right away. As a major metropolitan area, Seoul has plenty of hospitals, which combined with universal health insurance facilitates access to healthcare and improves the quality of incidence estimates. Given the distinct features and straightforward diagnostics of BPPV, this condition can be confirmed quickly and easily in an outpatient setting and without complex or invasive tests. As a result, it is unlikely that any discrepancies exist between the data of BPPV onset and that of diagnosis in this dataset. Second, this study is based on epidemiological data. Therefore, the results of this study alone cannot fully elucidate the mechanism behind this phenomenon. Additional research, including animal experiments, is needed to compensate for this.

Several previous studies were conducted on the effects of air pollution on respiratory health and the risk of otitis media (Guan et al. 2016; Khilnani and Tiwari 2018; MacIntyre et al. 2014; Zemek et al. 2010). However, this is the first study to report on the effects of air pollution on the incidence of inner ear disease. This study is the first to show that air pollution may increase the incidence of BPPV. These findings contribute toward a better understanding of BPPV pathogenesis and improved prevention and management of this condition. In addition, these findings provide foundational evidence on the range of diseases triggered by air pollution, helping to expand this field of study.

Authors' contributions Seog-Kyun Mun: Writing, Investigation. Seung Ri Oh: Writing, Methodology. Bo Ram Yang: Writing, Methodology. Seung-Ha Oh: Writing—Review and Editing. Munyoung Chang: Project administration, Writing, Supervision. All authors have given approval to the final version of the manuscript.

Data availability The datasets used and analyzed during the current study are available from the corresponding author on reasonable request.

Declarations

Ethics approval The study was reviewed and approved by the Institutional Review Board of Chung-Ang University Hospital.

Consent to participate Not applicable.

Consent for publication Not applicable.

Conflict of interest The authors declare no competing interests.

References

- Aguilera I, Pedersen M, Garcia-Esteban R, Ballester F, Basterrechea M, Esplugues A, Fernández-Somoano A, Lertxundi A, Tardón A, Sunyer J (2013) Early-life exposure to outdoor air pollution and respiratory health, ear infections, and eczema in infants from the INMA study. Environ Health Perspect 121:387–392. https://doi. org/10.1289/ehp.1205281
- Ars B (2008) Chronic otitis media pathogenesis-oriented therapeutic management. Kugler Publications, Amsterdam
- Baloh RW, Honrubia V, Jacobson K (1987) Benign positional vertigo: clinical and oculographic features in 240 cases. Neurology 37:371– 378
- Bowatte G, Tham R, Perret J, Bloom M, Dong G, Waidyatillake N, Bui D, Morgan G, Jalaludin B, Lodge C, Dharmage S (2018) Air pollution and otitis media in children: a systematic review of literature. Int J Environ Res Public Health 15. https://doi.org/10.3390/ ijerph15020257
- Brauer M, Gehring U, Brunekreef B, de Jongste J, Gerritsen J, Rovers M, Wichmann HE, Wijga A, Heinrich J (2006) Traffic-related air pollution and otitis media. Environ Health Perspect 114:1414–1418. https://doi.org/10.1289/ehp.9089
- Chan KC, Tsai YT, Yang YH, Chen PC, Chang PH (2017) Osteoporosis is associated with increased risk for benign paroxysmal positional vertigo: a nationwide population-based study. Arch Osteoporos 12: 106. https://doi.org/10.1007/s11657-017-0403-7
- Girguis MS, Strickland MJ, Hu X, Liu Y, Chang HH, Kloog I, Belanoff C, Bartell SM, Vieira VM (2018) Exposure to acute air pollution and risk of bronchiolitis and otitis media for preterm and term infants. J Expo Sci Environ Epidemiol 28:348–357. https://doi.org/10.1038/ s41370-017-0006-9
- Goycoolea MV, Lundman L (1997) Round window membrane. Structure function and permeability: a review. Microsc Res Tech 36:201–211. https://doi.org/10.1002/(sici)1097-0029(19970201)36:3<201::Aidjemt8>3.0.Co;2-r
- Guan WJ, Zheng XY, Chung KF, Zhong NS (2016) Impact of air pollution on the burden of chronic respiratory diseases in China: time for urgent action. Lancet 388:1939–1951. https://doi.org/10.1016/ s0140-6736(16)31597-5
- Hanley K, O'Dowd T, Considine N (2001) A systematic review of vertigo in primary care. Br J Gen Pract 51:666–671
- Hoseinabadi R, Pourbakht A, Yazdani N, Kouhi A, Kamali M (2016) The effects of abnormality of cVEMP and oVEMP on rehabilitation outcomes in patients with idiopathic benign paroxysmal positional vertigo. Eur Arch Otorhinolaryngol 273:643–648. https://doi.org/ 10.1007/s00405-015-3612-y
- Katsarkas A (1999) Benign paroxysmal positional vertigo (BPPV): idiopathic versus post-traumatic. Acta Otolaryngol 119:745–749. https://doi.org/10.1080/00016489950180360
- Khilnani GC, Tiwari P (2018) Air pollution in India and related adverse respiratory health effects: past, present, and future directions. Curr Opin Pulm Med 24:108–116. https://doi.org/10.1097/mcp. 000000000000463
- Kim JA, Yoon S, Kim LY, Kim DS (2017) Towards actualizing the value potential of Korea Health Insurance Review and Assessment (HIRA) data as a resource for health research: strengths, limitations, applications, and strategies for optimal use of HIRA data. J Korean Med Sci 32:718–728. https://doi.org/10.3346/jkms.2017.32.5.718

- Leach AJ et al (2020) Panel 6: Otitis media and associated hearing loss among disadvantaged populations and low to middle-income countries. Int J Pediatr Otorhinolaryngol 130 Suppl 1:109857. https://doi. org/10.1016/j.ijporl.2019.109857
- Lopez-Escamez JA, Gamiz MJ, Fernandez-Perez A, Gomez-Finana M (2005) Long-term outcome and health-related quality of life in benign paroxysmal positional vertigo. Eur Arch Otorhinolaryngol 262: 507–511. https://doi.org/10.1007/s00405-004-0841-x
- MacIntyre EA, Karr CJ, Koehoorn M, Demers PA, Tamburic L, Lencar C, Brauer M (2011) Residential air pollution and otitis media during the first two years of life. Epidemiology 22:81–89. https://doi.org/ 10.1097/EDE.0b013e3181fdb60f
- MacIntyre EA et al (2014) Air pollution and respiratory infections during early childhood: an analysis of 10 European birth cohorts within the ESCAPE Project. Environ Health Perspect 122:107–113. https:// doi.org/10.1289/ehp.1306755
- Mirian C, Ovesen T (2020) Intratympanic vs systemic corticosteroids in first-line treatment of idiopathic sudden sensorineural hearing loss: a systematic review and meta-analysis. JAMA Otolaryngol Head Neck Surg 146:1–8. https://doi.org/10.1001/jamaoto.2020.0047
- Mizukoshi K, Watanabe Y, Shojaku H, Okubo J, Watanabe I (1988) Epidemiological studies on benign paroxysmal positional vertigo in Japan. Acta Otolaryngol Suppl 447:67–72. https://doi.org/10. 3109/00016488809102859
- Park M, Han J, Jang MJ, Suh MW, Lee JH, Oh SH, Park MK (2018) Air pollution influences the incidence of otitis media in children: a national population-based study. PLoS One 13:e0199296. https://doi. org/10.1371/journal.pone.0199296
- Park MK, Lee DY, Kim YH (2019) Risk factors for positional vertigo and the impact of vertigo on daily life: the Korean National Health and Nutrition Examination Survey. J Audiol Otol 23:8–14. https://doi. org/10.7874/jao.2018.00178
- Roberts RA, Abrams H, Sembach MK, Lister JJ, Gans RE, Chisolm TH (2009) Utility measures of health-related quality of life in patients treated for benign paroxysmal positional vertigo. Ear Hear 30:369– 376. https://doi.org/10.1097/AUD.0b013e31819f316a
- Sasa H, Nagahara K, Yamashita T, Kumazawa T (1989) Gas permeability of round window membrane. ORL J Otorhinolaryngol Relat Spec 51:88–93. https://doi.org/10.1159/000276039
- Schappert SM (1992) National ambulatory medical care survey: 1989 summary. Vital Health Stat 13:1–80
- Singh NK, Apeksha K (2016) Efficacy of cervical and ocular vestibularevoked myogenic potentials in evaluation of benign paroxysmal positional vertigo of posterior semicircular canal. Eur Arch Otorhinolaryngol 273:2523–2532. https://doi.org/10.1007/s00405-015-3867-3
- Strupp M, Brandt T (2013) Peripheral vestibular disorders. Curr Opin Neurol 26:81-89. https://doi.org/10.1097/WCO. 0b013e32835c5fd4
- von Brevern M, Radtke A, Lezius F, Feldmann M, Ziese T, Lempert T, Neuhauser H (2007) Epidemiology of benign paroxysmal positional vertigo: a population based study. J Neurol Neurosurg Psychiatry 78:710–715. https://doi.org/10.1136/jnnp.2006.100420
- Walther LE, Blödow A, Buder J, Kniep R (2014) Principles of calcite dissolution in human and artificial otoconia. PLoS One 9:e102516. https://doi.org/10.1371/journal.pone.0102516
- Zemek R, Szyszkowicz M, Rowe BH (2010) Air pollution and emergency department visits for otitis media: a case-crossover study in Edmonton, Canada. Environ Health Perspect 118:1631–1636. https://doi.org/10.1289/ehp.0901675

Publisher's note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.